Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - 111 + EXAMINATION — SUMMER - 2018

Subject Code: 3330605 Date:07-05-2018
Subject Name: SURVEYING
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

1.  Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4.  Use of programmable & Communication aids are strictly prohibited.

5. Use of only simple calculator is permitted in Mathematics.

6.  English version is authentic.

Q1 Answer any seven out of ten. €22l SlEURL Ulclotl ol WU,
1. Enlist the classification of surveying based on instruments used.
U Altellell duRlel YHIA tcelett ad(lswtedl augl .
2.  Define surveying and leveling.
2. udal A Aaclate(l catuanl .
3. Enlist the types of scales.
3. Wcdoll YsRell el 2.
4.  Draw neat sketch of Steel arrow showing its length and diameter.
¥, Wl Aol 229 Bl €13 Aol UR Aoll dolleS ual cauy galldl.
5.  What are the objects of ranging ?
U, %0l ol A sl sl B?
6.  Write the names of various instruments used in chaining.
S.  Ao(lol WIS AURAL AEL YEL ALdolloll oltH AUl
7.  Define Fore Bearing and Back Bearing.
9. R AL Ual As Adle{l carvail M.
8.  Enlist the Classification of direct leveling methods.
¢.  ycdel Aaclloell Al Hzett aollsetell auel .
9.  What are the advantages of Plane Table Surveying?
¢c.  WQot colct Aol SLAEL sl sl B?
10.  Write the advantages of G.P.S.
0. G.P.S. all SlAEL AWl
Q.2 (@) Draw the conventional symbols for (i) North Direction (ii) B.M. (iii) Temple

Yal.? () A sl €R (i) GelR [Rau (ii) Ao 1S, (i) H(ER

OR
(@  The length of a survey line measured with 20 m chain was found to be 405 m.
If the length of the line is 407.50 m, Calculate the true length of the chain.

) 20 Hl cioll auisn ad As AT ASatoll dotts HIUeUH Aladl a
U clgel ¥ou.00 Hl. dotdell lale] ugH udd. %l a A

AlSololl WRWR dolts ¥049. U0 Hl 8lat dl uisnell Al clous 2.
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Explain in brief Principles of surveying.
Ucletololl Rl (@R gsuil uMestal.

OR
What are the uses of Surveying?

Adaulel GuAdl sauL sl B?.
Give the difference between Plan and Map
Welol Aal als2llell AR dglald .

OR
Give the difference between Plane Surveying and Geodetic Surveying.

AULEL ATl AR oHIUal UL AR dsleldt 2.
Explain Diagonal scale in brief.
SLANAA B (AW gsul UMl

OR
Explain Indirect ranging with sketch.

UHA WA YAl 0L AU,

A plan of plot represents an area of 16320 sg.m on ground and measures 7.5
cm X 8.5 cm on paper. Find out R.F. of the scale.

glol UR As Wllesd MU 15320 ALHL & »UR S10101 UR dej HIU
QU AL X c.w AL B. L Beell RF. AW

OR
Convert the following W.C.B. into Reduced Bearing:
(i) 78°  (ii) 168°30°  (iii) 279° 30

o{lA WAA W.C.B. ol Reduced Bearing Hi %2cll.

(i) 9¢® (i) 15¢30° (i) R9€° 30
Explain in brief Temporary adjustment of Prismatic Compass.
Qs sruietl ouHl s (AW 2s5ML UHLAL

OR

Define following :

(i) True Bearing (ii) Magnetic Bearing (iii) Arbitrary Bearing
o{lRAstloll caltvail .

(i) Wy AL (i) Radls Aol (iii) derel AL,
Following observations were taken for a closed traverse ABCD. Correct the
bearings for local attraction.

Line Fore Bearing Back Bearing
AB 65°30° 245%3(0°

BC 128°30° 310°30°

CD 251° 69°

DA 345° 165°
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As ol HARME ABCD Hi o{lA Yxololl wclAlsell AclHl A,

s vsyel g2 sal AU ALl a1gLctl s2A.

ALt 1R a<loL as aloL
AB su°30° ¥U°30°
BC 1¢°30° 30°30°
CD U4 S ¢0
DA 3¥Y0 1sY”

OR

Following Bearing were taken of a closed traverse PQRS. Calculate the
interior angles of the traverse.

Line Fore Bearing Back Bearing
PQ 44930° 224930

QR 123°30° 303%30°

RS 181° 10

SP 290° 110°

As oltl HIARWMEL PQRS Hi o{lA yuiQett AlZloL HiuaMl AAA.
HIAR ULl Vol veue(l aiddl s2A.

ALt D ENAEIR| as aloL
PQ ¥¥°30° %030’
QR 123%30° 303°30°
RS 1¢q° 90

SP R¢0° 190°

Explain in brief Temporary adjustment of dumpy level.
sl Qadetl douHl AsxwweNoe (AN sui UMesLAl.

OR

Draw neat sketch of Prismatic Compass and show its components.

RQxRdls s1rutell gl €131 Astl ewdll gl

Explain in brief H.l. method for leveling.

Aacllol Hizell sz A1 Sorgioe (H.1) ofl At QAN 5Hi unmAl

OR
What are the uses of contours?
$o22 oll GUAN sl sl B?.
Write the characteristics of contours.
sogoll Alel@ sl cvll,

OR

Explain method of intersection of plane table survey.
Aot 26 Ade{l SoeAsAetoll A (AN SsHi AHALA.

The following readings were taken with dumpy level and 4 m leveling staff.
The R.L. of first reading was 98.005 m. The instrument was shifted after
fourth and ninth reading. Calculate the R.L. of all the points by Rise and fall
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method.
3.095, 2.220, 1.085, 0.850, 3.225, 2.690, 1.830, 1.465, 1.955, 1.355, 2.385,
and 3.110.

(5) As sl Aac wa ¥.00 Hl ot Aacllol s ad oA Yrusil
dlUatisl Acuul el Yyur diddise] RL ¢c.oou . &d. A
U oMl diUolls UE TRrgHod UASAHL WA GlR A UL
(Rise and Fall) ofl It &l - (galletl R.L. 204,
3.0, R.220, 1.0C4, 0.¢U0, 3.2”Y4, 2.5¢0, 1.¢30, 2.¥SY,

Q.5 (@ Explain in brief interpolation of contours.
YU () Sogell SeWAel (AN g5l uMesdl,
(b)  Define following terms:
(i) Back Sight (ii) Fore Sight (iii) Intermediate Sight (iv) R.L.
()  o{lAetl ULl caltuaul .
(i) As w2 (i) R W2 (i) Sz LSlAe WeSe (iv) R.L.
(c)  What are the errors in plane table survey?
(8) Qot 2olcd AUl wadl FERA 58 585 B?.
(d)  Write a short note on G.P.S. Receiver.

(S)

.¢UU, 1.3UY, 2.3¢U 3a 3.490.

G.P.S. Al (@AY sl AWl
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